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(Z DfthizE) (Z DfthizE) (Z DfthizE)
BHERE 8,532|=HRE 10476|=BRE 72,996
EXE 24,664, 705|F=%%& 24,579,898|=%%& 10,000,474
SREA=Fk: 995|B C&iE%E 13,898| B 2 &1E8%8 474
wBhEE 24,663,710|#8B0%E 24,566,000| %8058 10,000,000




0 3. MEFHRP A Y OETRXXEA TR £ bEM- AL B D-
YR 2 T EE TR 2 8 FE TR 2 9 FE
(B FE) (B FE) (B FE)
HEBIEHR > X T L(GIS) T — X 158 1,684 800|HAEE BN EBHAEE (BBETOERRESZEADSIM) 5,700,000|E:#E /L — P ERKRVPE=ZX—V T —DENE 4,500,000
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LS 3,000,000 L& 3,500,000|4+E A 1F PREFEIVERK 982,800
W —U XLEXPOY ¥ /v ~DHE 11,000,000)458 [—@EA] TORREBH 5,000,000
HWE TR TOLEIBEH 1,014,120
Y=Y ZLEXPOY ¥ /> HEUHBERAITOA Ny b RBE [KHRE] ~OHE 9,885,740
FALMREEER DAL 2,499,080
/NET 32,870,549/t 24,385,500)/)\5+ 5,082,200
(ATERR) (ATERR) (ATERR)
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(FAEMR) (FRAEMR) (FRAEMR)
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BN EEE 2,482,920
/NET 2,482,920]/)\5t O/ INET 0
(Z Dfth iz E) (Z Dfth iz E) (Z DfthizE)
BHRE 118,084| =541 &E 63,941 | =R E 477,660
BEEHE 46,250,770|E%% 28,870,161| =% 10,070,000
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BAEEYY 7OEREE 985,000| AHZBEM 7 v > SERAIEEE 2,393,280

AAEERER/ S 7Ly F OIEREYE 3,141,104|BS-TBS~ X % —BRE&&I1E Kk OB HOE 4,860,000

BABERBN L —E—DIER 6,398,568

ML [—EA] TOREBH 5,000,000

A2 RB—T A 712 & 2 BERHEIVER O EHERER 2,160,000
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BAEEZYE - FELBYBEREE 2,271,780 HBEEER L GEEDI V> LY 2 BREE 147,360\ B AERERERE Y SIEABE 83,680
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AAEET—2 > ay 7ORME 2,200,025|BAEET —2 > 2y THESE 1,146, 760| AABE VA —F > 0T =0 > a3y THE 1,268,200
AAREBEY VRV LDOFRE 731 403|HAEEY YRy U LFESSE 596,037| E D ENFHEZE 607,585

BAEED E AREE fBE SFEIML7z X0OFE 753,118|fEETEKR S [REB) CTOREHRRIEEE 7,491,960
HARBEEE=-X—V T —EHEEE 2,241,000

IR 2,931,428]/1\5t 4,736,915|/\5t 9,367,745
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NE 37,642,032|/\5t 22,059,000|/\5t 11,969,100
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(RNBER D786 D EAE) (RNBER D786 O EAE) (RNBER D786 D EAE)
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NE 1,566,000)/) 5t 745,200]/\5t 629,640
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EERE EHRE EHRE
E¥xE 39,208,032|=x% 29,154,600|=2% 13,557,780
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N / g / Of nat 4,790,000
(ANBER D78 DEH) (ABERA D78 D) (NBESER D 72 0 DEAR)
AAEEMRILE IS B 2 RNR, HBRORE 3,174,192
SERINE FESRIE AU /77VRI-E —ERET 7,837,560
O/NEt 11,011,752
(Z DBFEE)
EBRE 2,111,389
0|=%E 42,224,000
BC&iBi 392,000
O|#Bh%R 41,832,000




53. KIEW. ZFFITh7 2 RMDELIE

~FRE [5F [KAE] Mgl ~

FR2 1 AR

/|

FH2 8 AE

/|

FH2 0 AR

(EHHE) / | tsmxiE) / | tsmxe)
AAEEH P (- £ 2B HIESE 2,964,960
AEANZM4-7 9yMZ L7z TSNS] IC K BB HFESE 570,350
FUNT Ay 7 ~DEHEBAR 4,968,000
J-TLybF 24/ DIE Y IS & B R RE R 4,183,293
NEE OJ/NEt OJ/NEt 12,686,603
B B B
AAEE A1 FBEMEE 3,790,400
NEE OJ/NEt O/NEt 3,790,400
(& REF) / (& REF) / (& REF)
/ / AAEES » KU T LEREE 709,647
/ / AFEE [“FEOXMY | T-4—BE 1,058,400
EF ‘/’/, of 1zt ‘/*/, of 1zt 1,768,047
(FBEFR) / (BEHR) / (BEHR)
/ / RIREXALE BT 2 AEFREE 2,000,000
/ / IS BT A BEANERE 5,000,000
2 / OJ/NEt / O/hEt 7,000,000
(ABEF 0 72 3 P AR) (ABER 0 72 P AR) (4NBEEF O 72 8 DEEAR)
/ / HPERORE 4,536,000
NG / o)1 &t / o)1 &t 4,536,000
(% D fE) (% Dt fE) (Z DRE)
EBRE 1,974,092
O|F%5 31,755,142
BC&iBi 410,142
O|#HBh%E 31,345,000




5 4. U1 VBB~ KIS LB DB E 1P <
T2 1 AR TR 2 8 HE /] TR 2 9
(EHHIE) (EHHIE) / | tEExE)
[EASERE] 2 % — W& R OB A% 5,832,000
FA—vIc £ 2 B EEERY 887,760
/ 360EBERY - ME 799,200
/ $FRIIBH 1,782,000
/ BER - HUTEIE - RE 1,051,920
RAZHEA > R 363,096
/ AASEERAN /> 7 Ly MEB 602,640
/ RYsHA R < v 71ER 469,300
/ TYTHA Ry TR 520,000
FE-HEFRNT Ly ME 972,000
NEF NEF / of 1zt 13,280,416
(AHEB) (AHEB) / (AHER)
/ FELRT VT4 THA FOBK 296,520
N / N / of 1zt 296,520
(EREFH) / (EREFH) / (EREFH)
/ / RN 703,674
/ / E=R—Y T —DEH 2,859,840
/ / [HR B RATHT ) IR D FIT 1,766,880
Y — U XLEXPOY ¥ /3 /R 300,000
NEF / NEF / of 1zt 5,630,394
(GAEHF) / (GAEHF) / (GA&HF)
/ / BENSBE 4,438,800
NEF / NEF / of 1zt 4,438,800
(RBER O 78 0FE(E) (RBER D78 OFE(E) (ABSER D0 DEARE)
/ / ZWIR - RPRORE 3,346,136
/ / EHAE I —F —DRE 1,728,000
/ / ERE - BAREREE 2,345,624
/ / SHBLEE 4,411,800
Y45 U rn— FER 1,617,840
NEF / NEF / of 1zt 13,449,400
(Z D) (Z D) (Z DiRE)
e A e A LR 1,025,470
Ty Tyl B 38,121,000
£1048 £1048 R 75,000
of ez 38,046,000




